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RRBs — CRP RRB-XI1I {OMice Assistants) and CRP RRB-XI1I (Officers)

Preliminary Examination

A

ﬁf:te Assistants and Officer Scale I :
05.08.2023, 06.08.2023, 12.08.2023, 13.08.2023 and
19.08.2023.

Single Examination

Officers Scale 1T & I11 : 10.09.2023

Main Examination

Officer Seale I : 10.09.2023

Office Assistants : 16.09.2023

PSBs — CRP CLERK-XIIL CRP PO/MT-XIII & CRP SPL-XIII

Clerks

Probationary Officers Specialist Officers

Preliminary 26.08.2023
Examination 27.08.2023
02.09.2023

23.09.2023 30.12.2023
30.09.2023 31.12.2023
01.10.2023

Main 07.10.2023
Examination

05.11.2023 28.01.2024




SHIVANGI 7 hours ago
AFCGBHDETHANKYOU SIR FOR THE AMEZING SESSION

EIE gﬂ Reply

Surbhi Sinha 6 hours ago
HOMEWORK QUESTIOMN ANSWER & AFCGBHDE THANK YOU SIR . FOR YOUR EFFORTLESS SESSIOMN ==

[ﬁ\ gﬂ Reply

Vandana Chhatri 19 hours ago

THANK YOU SIR FOR THE AMAZING SESSION 4
HW ANS=AHBGCFDE

[ﬁ\ gﬂ Reply

Vishnu Gupta 18 hours ago
Ans- AFCGEHDE IS THE RIGHT ANS VERY SUPER DUPER NICE SESSION SIR THANK YOU SIR . . '@

EIE 1 I’T_/D Reply

Shalu Tiwari 16 hours ago

GCFAEDHB
Session is very helpful thank you sir

EIE gﬂ Reply




Tanisha p 19 hours ago

. Khushboo Mandal & & 19 hours ago
Thank u sir

Homework ~AFCGBHDE Home answer
| Clock wise AEDHCGBF
R L
CI% Y Thank you sir
Abhishek Singh 14 hours ago (edited) Dﬁ gﬂ Reply

Very nice session
Sirie =

Dﬁ gﬂ Reply

Sima Sharma 18 hours ago

Today's home work answer ...

DACB atcorner
Neetu Maurya 16 hours ago EFGH at middle

Hw ans AFCGBHDE . thanku sir for amazing session [6 9‘3 Reo]
eply

Dﬁ gﬂ Reply

/ Riya Mandaokar 7 hours ago
Nitika Gupta 19 hours ago . . .

Thank you sir for the session ans is BHDEAFCG
Homework

BHDEAFCG (5 GF  Reply

gﬂ Reply
Bharti Goud 12 hours ago

Muskan Rai 12 hours ago Homework - HDEAFCGE
ANSWER= AFCGBHDE

THANK U SIR FOR UR GUIDANCE I:IE gﬂ Reply




Shreta Basak 13 hours ago

Homework - EAFCGBHD

75 GF  Reply

harsh sharma 10 hours ago

Homework answer -GCFAEDHB
75 GF  Reply

Miharika Jha 16 hours ago
Homework answer
AFCGBHDE

75 GF  Reply

Manisha Goud 19 hours ago
Homework HDEAFCGE
75 GF  Reply

Abhishek Singh 9 hours ago

Sir question me bohot confusion hai
Solve nii ho paya & & &8

5 &P Reply

at 9:00 AM
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Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre
of the table but not necessarily in the same order. H and F are facing each other. H and
A are not immediate neighbours of each other. C 1s not immediate neighbour of H.
Two persons sit between A and G. B sits immediate left of G. Two persons sit between
B and E. One person sits between A and D. D and G are not immediate neighbours of

each other.

318 Ak HA A, B, C, D, E, F, G 3 H Teh IaThR 5 o =R 3T 35 hl AR 3@
BIhL o & Qfohe ATerzdeh el foh @A 567 H 2| H 3N F Tk THL Al 3T 3@ 2| H 3 A
Ueh 8L o Tehedw g T 81 C, H o1 Teh fHehead TSl el €1 A 3T G o sfi= <l =it
I3 21 B, G % Ik aRff ST AT 2| B 3 E o ofi=r a1 stk 93 81 A 3T D & oI Uah sH <k
SI31 8l D $R G Toh 38X o Tepeam qgiel e &
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Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre
of the table but not necessarily in the same order. H and F are facing each other. H and
A are not immediate neighbours of each \othé\r_._g 1s not immediate neighbour of H. Two
persons sit between A and G. B sits immediate left of G. Two persons sit between B_

and E. One person sits between A and D. ) and G are not immediate neighbours of

each othez.
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Type of Puzzle :-- ( O lew)

Box based puzzles

Floor/lift based puzzles

Day/ Month/ Year based puzzles

Age based puzzles

Puzzles based on categorization.

Puzzles based on comparison. (Based on height, color, marks, ages and Seating
arrangement etc)

Puzzles based on Blood Relation.

Designation based (salary, experience etc)

Matrix based Puzzle



Type of Sitting Arragement /
//6rcular Arrangement

® Linear Arrangement

®* Triangular Arrangement A >

®* Square Base I
®* Rectangle Base
® Uncertain person Base i~y

®* Double circle or Double Square Base

- \
-
R
L
/)\ 3
N -

C
R
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Here some Conjunction is also used instead of name of candidate. In that case:

If AND/BUT is used then subject of the previous sentence (name of
first candidate) will be used.

qfg <3/ * ST SUIRT TohTT SATAT & A1 T FATRT (LW IFHIEAR hT
A1) o fare T|Su=RT fehaT St

Tt Pizm@ﬂ
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If WHO/ WHOM / WHOSE / WHICH is used then object of the previous
sentence (name of second candidate) will be used.

Ife A / EeRt / TIEeRT ST SU=IT ST 8 AT TSt orerr (SaY STHiga <t
A1) ok T st START fehaT STTem|




Important points to Start the puzzle

*Gap /

®* Negative

®* Double / Triple /
* Immediate /

 0)11)% /
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There are certain number of persons sitting in a row facing towards north

direction. A sits fifth to the right of B. Two persons sit between C and B. D sits
fourth to the left of C. Four persons sit to the left of D. The number of persons
sit between D and B 1s same as the number of persons sit between B and F. F
sits at fourth position from one of the extreme ends.

Teh Uitk ® i Hean 3 =it 3T o o SRS H@ g 43 8l A, B3 ¥
i< I WSS 2l C 3 B & = 2l ARk 98 21 D, C o 9= ¥ =Y IH T 93]
gl D o 9T 3T I Mk oIS &1 D 3T B o e sia alel SARRAT shl T&AT T8 §

fh B 3T F o o9 & 9ad 81 F forelt uer 3ifam 18 <9 €9 9T Sadrt 2
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There are certain number of persons sitting in a row facing towards north

direction. A sits fifth to the right of B. Two persons sit between C and B. D sits

S ——

fourth to the left of C. Four persons s1t to the left of D. The number of persons

—

sit between D and B 1s same as the number of persons sit between B and F. F

sits at fourth position from one of the extreme ends.

% 11 D B Flcl F-l
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In a Certain code GATHER is written as 1346, than find

the code for DESIGN ? I @
U ATRTd HIZ A GATHER FTHI1E 1346 @I AT
DESIGN Y T 13 T 91T ?
f\/_\ 1 1 |
_ < T G NV
(1) 2549 G AT HE |

%4018 7 |3 Al @ a4 7 /
(3) 3220 /}{ /
(4) 0709 ERL 40 |8
(5) None of these '
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Six people P, Q, R, S, T and U have events on different dates 7th and 12th of

different months 1.e. January, February and March. D has event on even

numbered date in the month having 31 days. The number of persons have event
before D 1s same as the number of persons have event after A. One person has
event between A and C. F has event before C. B has event just before E.

D: IR P, Q, R, S, T 3R U o I STAT-3TT HE AT ehl 7 3 12 qRAEm Feriq
SHa, HEl 3R AT sht TT-STT IR &1 D o 9rd 31 faqt aret 7eia o on
HET ATt G 9T 5T 81 D U U8 HeAT STt ARl shl |, A o &1¢ HAT Il

AT Shl G o G 2| A 3R C o o= Uk A<k hl 2471 21 F Skl C 9 8ot 9]
2| B Al T E § 31k U8 2
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Six people P, Q, R, S, T and U have
events on different dates 7th and
12th of different months 1.e. January,
February and March. D has event on
even numbered date 1n the month
having 31 days. The number of
persons have event before D 1s same
as the number of persons have event
after A. One person has event
between A and C. F has event before
C. B has event just before E.

at 9:00 AM
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IBPS / BANK / LIC / SBI at 9:00 AM

In a Certain code TEACHER is written as 2121135 ,than

find the code for RECHARD ? (lagxﬂ"f T WW%”Q
s ATTT P A TEACHER FT RIS 2121135 @I AT &

! RECHARD T 1S &1 19T ?
l | ('\— . [ //\ij
(1) 1920214 T E ACHER 4 ECHAR
f2pag21125 s 1 285 RER G 2R
| J! f
3;133?53 b3S 121 12 S

-5)None of these



\
" D s husband of E. F is grandchild of D. D has only one child (son),

who is married to H's child. H has only two children one son and
one daughter. L is grandson of H. G is brother-in-law of son of H. I

and J are children of H. K is married to the son of H. L is son of I's
brother.

D, E T 9(d 21 F, D 31 9IdT &1 D T shael Ueh shoall (T) 8, ST H o J=dd |
faTfed 21 H & shddl 31 §=d & Ueh 9T 3T Tk &l L, H R a1 2l G, H
I o1 STeATs 8| [ 3 J, Hoh o<l 8| K i faae Hoh T g3l L, [
WIS T I 2

If H is married to M then how is H related to F? / afc o, M@ faarfga &, d H, F 8 8 YR Hdfed g7
A. Paternal Grandfather B. Paternal Grandmother

C. Maternal Grandfather D.Maternal Grandmother—

E. Either (C) or (D) \———
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D is husband of K, F is grandchild of DD has only one child (son),
who is married to H's child. as onl/wo children one son and

one daughter. L is grandson of H. G is brother-in-law of son of H. 1

e

and J are children of H. K is marrled to the son of H L is son of I's
brother. N

e [ _m] =
AT

| |

F L




In a Certain code DECISION is written as 45135 ,than find

the code for DECQDINA ?
v AT FS A DECISION FTHIT 45135 @ I1ATE

dY DECODINA T &3 FIT §I3IT ?

(1) 7590 DECIST;?N) DECODZNA
(2) 25100 (539 TN WS s q
509 S ::..} ”

(4) 25001 s 123 AN

(5) None of these



IBPS / BANK / LIC / SBI

Twelve members of a football team are sitting in two
parallel rows containing six people each, in such a
way that there 1s an equal distance between adjacent
persons. In row-1 U, V, W, X, Y and Z are seated
and all of them are facing south. In row-2 A, B, C, D,
E and F are seated and all of them are facing north.
Therefore in the given seating arrangement each
member seated in a row faces another member of the
outer row. X sits third to right of V, either X or V
sits an extreme end of the line. The one who faces V
sits second to right of E. Two people sits between B
and F. Neither B nor F sits at an extreme end of the
line. The immediate neighbor of B faces the person
who sits third to left of U. W and Y are immediate
neighbors of the each other. C sits second to the left
of A.Y does not face the immediate neighbor of D.

Ueh BZsicl SIH oh SINE | &l HHIHIC Uikl |
Tcdeh H BE ATth 36 YohR 83 & foh AT IRl b
S g g 81 URh-1 H U, V, W, X, Y R Z 93 @
31T 37 |+ft o1 7@ afeqor 3t AR 2| dfe-2 7 A, B, C,
D, E 3R F o & 37 3 a+ft 1 7@ I Al AR 3
AT &t 7T 3 ohl TIEAT | Teh Uk | o Iodeh
| 1 q@ STedl Ufth o qEl Hewd shl AR 2l X, V
o T U O T W AST 8, ATl X ATV Ufh o
I DR T 3T &) I Afth fSTeeh 9@ V sl AN 2,
E # 14 ¥ qO T T SI3T 8] B 31N F o 9 <1 54fh
I3 TdT B IR T F Ul o AT SRS Bl B
o Tehea™ TSI o1 7@ 36 Afh i IR ST U
TR § e T U SIBT 8. W SR Y Toh gal o
e TSI 2. C, A % 91 § g6 T W31 2l Y
1 T@ D o feheds Tere sht AT 2
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Twelve members of a football team are sitting in two U z y >/ W V

parallel rows containing six people each, in such a ‘\ L A—I—— IV WAy 2
way that there is an equal distance between adjacent oo I

persons. In row-1 U, V, W, X, Y and Z are seated

and all of them are facing south. In row-2 A, B, C,/ L] |
E and F are seated and all of them are facing north. L '
Therefore in the given seating arrangement each C F A E 8 D

| AR CDEF

member seated in a row faces another member of the =
outer row.é( sits third to right of V, either X or V

sits an extreme end of the line. The one who faces V

sits second to right of E. Two people sits between B T 1
and F. Neither B nor F sits at an extreme end of the

line. The immediate neighbor of B faces the person )<
who sits third to left of U. W ahd Y are immediate | { ! }‘

neighbors of the each other. C sits second to the left > Z X

of A. Y does not face the immediate neighbor of D.




In a Certain code SATELLITE is written as

62122012419811 , than find the code for LAUNCHING ?

TE cae  a— ——

s Afaa fiE :ﬁr SATELLITE ST I3 62122012419811
ETIaTe, LAUNCHINGEﬁa?raﬂ's'wg’IWP

| o0 Y 12 1 S

sﬂ—FE_L ITE

(1) 1315211831120 4 e
¢

(2) 1421203160283 RN
A3i522213361387 | = v v 17 V7

(4) 2018152117179 L AU N C R T N

(5) None of these D »< | X@

5 22223 ¢ 3% 7

—
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Six members Z, C, E, F, H and B are born 1n six different months (of the same year) namely January,February,

/Aip’ril, May, July and September, but not necessarily in the same order. Each of them born in different days

nadeay, Tuesday, Wednesday, Thursday, Friday and Saturday, but not necessarily in the same order. F

born in a month which has only 30 days. Only one person born between the one who born on Friday and F. The

one who born on Monday 1s immediately before the one who born on Saturday. The one who born on Tuesday
neither born in the month which has 31 days nor in the month which has 30 days. Only two persons born
between the one who born in Tuesday and B. C born immediately after B. Z born before E, but not immediately
before E. H born on Thursday.

ST Z, C, E, F, H 3K B B¢ 3T-3707 T2 (T 2 7 ) Y S, HLadl, ST, 7, S[eiTs R ok J
e BU &, Tifoht ST Tl fo SET 361 W Bl 34 | Tcish ohl 70 STTTT-3TAT [T STATd HIHaR, HIAaR, JHaw, e,
SIS 3T TSR bl GAT &, ATeh ST T fob et 350 H €| F 36 HEIH H UeT Biell & fSre shefet 30 fo 81 &) Jpha
%1 ST i el SN F o sf =l sheiel Ueh S ich ol SI-H ST 8| 98 ATth [STEhl S-H I sl 3T ©, I8 IMHER hl ST
A ATt o 3ok U8 ol HTCTIR ol SIFH i JTeT 7 df 36 Wal- H UaT 8317 & fored 31 fa & ST A & 36 wel | Yar ga
& FoTem 30 fo1 21 HITTaTR ol ST T ot 3T B o Si<l shal el &1 SATThal 31 S0 §3AT| C 3T S0 B o 3tk o1 §3T| Z
1 S E | U8 3T, T E o 31k Uact Aei| H 3T STH T 3hi g1l
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Six members Z, C, E, F, H and B are born 1n six different

months (of the same year) namely January,February, 5
ey
April, May, July and September, but not necessarily in Som \ A

the same order. Each of them born 1n different days S b \ o Tm&ﬂgz

namely Monday, Tuesday, Wednesday, Thursday, Friday

—

and Saturday, but not necessarily in the same order.f AP}U\ F Mon ()\049

born in a month which has only 30 days. Only -+

one person born between the one who born on May E WMO\@;‘/

Friday and F. The one who born on Monday is
ot

immediately before the one who born on

—

Saturdagl.The one who born on Tuesaay neither

UWegdmnen
born in the month which has 31 days nor in the %Q\O \ C

month which has 30 days. Only two persons born

between the one who born in Tuesday and B. C /
born immediately after B. Z born before E,’bli

not immediately before E. (H’@n Thurs@. W




In a Certain code BAG is written as 8 ,than find the code

for JOKER ?

U AT 1S A BAG FT RIS 8 for@T AT & QY JOKER
&T F1S FIT 81T ? (&)

Y '
AN —> 3 —7 BUDBRDX3 - &

(1) 75 R |
(2) 64 v s woxs = (as

TOKER—=> 5
%0 u
o <l

(5) None of these
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A,B,C, D, E, F, Gand H are sitting around a square table in such a way that four of them sit at

four corners of the square while four sit in the middle of each of the four sides. Those who sit at
the four corners faces outside while those who sit in the middle of the sides face the center of the
table. D sits third to the left of G. E sits third to the left of C. C does not sits any of the corners.
Only one person sits between C and F. Only one person sits between D and F. A 1s an immediate
neighbor of F but not an immediate neighbor of C. The number of the person sitting between B
and F 1s same as the number of the person sitting between D and C.

A,B,C,D,E, F, G 3T H Uk SRR B & IR 37X 39 Jh R 93 2 foh 390 & IR a7 o IR hiHT 9T
oIS & STeTfeh =R =R TS H H Yceh o Wed H oIS 8| ST AN =R ShF] TS & ST 7 ST ! AN
& STeTfeh ST YSITSAT o sff<l H SIS & ST H@ HS{ o %5 ohl AN 2| D, G o o H 16l T 3T 8l E,
C o I T dER T R S3T 21 C fordft o o9 § 781 93T 81 C 3R F o s shaled Ueh A<k SI3T & D
3R F o S shaldl Ueh STk o341 21 A, F o1 fHehean ueie) 8, AAfer C i1 Fereaw geie =1 =

B 37 F & &= 98 =ftk it 631 D 31K C & sfi= 93 =afth 6t g & a0 2|
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[ e
between C and F. Only one person sits

IBPS / BANK / LIC / SBI

A,B,C,D,E, F, G and H are sitting around a E I\)

square table in such a way that four of them (X T — 7 =/

sit at four corners of the square while foursit F —> —t ><
in the middle of each ofthefoursides. Those

who sit at the four _corners faces outside while

those who sit in the middle of the sides face

the center of the table. D sits third to the left

of G. E sits third to the left of C. C does not
sits any of the corners. Only one person sits

between D and F()ls an immediate nelghbor
of P.not an immediate neighbor of C. The

number of the person sitting between B and F

1s same as the number of the person sitting
between D and C.



Eight persons P, Q,R,S, T, U,V 3113 Jf<h P,Q,R,S, T,U,V 3T
and W were seated around a W Uk IdTeh BT oh IR AN e
circular table facing the centre . 3+ o

L ol TR @ leh oIS 9|

* U, P o1 & g8 T W T

®* U was 2nd to the left of P and -
3T 3UhT TG V i 3R AT
faced V A \9@ .
®
®* R was 2nd to the right of T who I:’ 1= <19 E\HJ\@““‘ qLH,
faced S [STEehT 79 S hl ST AT

N\ N0
* (Q was 3rd to the left of W * Q, Weh did dralr a1
®* P was not neighboring T O S W@ﬁqﬁ AT




IBPS / BANK / LIC / SBI at 9:00 AM

s
Eight persons P, Q, R, S, T, U, V
and W were seated around a

circular table facing the centre .

®* U was 2nd to the left of P and
faced V

®* R was 2nd to the right of T who
faced S

* (Q was 3rd to the left of W

®* P was not neighboring T
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